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SCHOLARS ACADEMY

a) disappoint (b) oblige
ENGLISH (
[ (c) oppose (d) fascinate
1. Direction: Given below idioms/phrases followed by four 9. Find out the appropriate word for blank no. (5).
alternative meanings to each. Choose whichever is the (@) adopted (b) estimated
most appropriate meaning and mark your answer. (©) fathomed (d) supposed
Turn topsy-turvy
(@)  Tocompletely change (b)  Tocompletely evaluate 10. Find out the appropriate word for blank no. (3).
somethin somethin
) & & (@) employees (b) citizens
(c) Toenjoyyourself greatly (d) To exhaust yourself . .
(c) politicians (d) judges
completely
2. Direction: Given below idioms/phrases followed by four 11. Ellretl:(tlon: Choose the most suitable answer to fill the
alternative meanings to each. Choose whichever is the Ifan ' t with friend " ¢
most appropriate meaning and mark your answer. ‘:’e gotou wi riends, we normally ______ 1o a
To get under somebody's skin restaurant. )
(@) To deceive someone (b) Toadmire someone @ g0 (b)  will go
(c) Toannoy someone (d) To support someone (€) cango (d)  gone
3. Find that mis-spelt word. 12. It)’:;e::::rtl;:;Itlalbnletl::)tlzcl,annks in the following sentences by
(@) Accellerate (b)  Exaggerate A cup of water was enough to his thirst.
(c) Liberate (d) Perpetrate (@) satisfy (b) appease
c ench d) extinguish
4. Direction: In the given sentence the underlined part can © aqu (d) xtingut
be improved by replacing it with one among the four
. P . y rep & . 8 13. Direction: Fill in the blanks in the following sentences by
options given. Choose the correct option. the most suitable option
. . ui ion.
Many a man have died of swine flu.
@ h yd‘ df e fl (b) has died of swine fl It that Punit will not be selected.
a
ave die ror‘n swine 4 u as |e. o swm.e u @ feels ) looks
(c) have been dying of swine (d) have died of swine flu )
flu (c) believes (d) seems
5. Direction: Select the most appropriate word for the given 14. ?;:\i:tr:::)::'ns'ilgi :ctthsepec::::on that expresses the given
in indi
roup of words. §
g . P . . The young man said to his father, "Pardon me, sir."
Without risk of punishment @ )
. a) The young man begged of The young man
a) Impudent b Impunit
@) P (b) punity his father to pardon him. requested to his father
(c) Inexorable (d)  Imperturbable pardon me, sir
L . C The young man begged of (d) The young man told his
6. ( 6 — 10 ) Direction: In the following passage, some © his father to pardon me (d) father pardon me
words have been deleted. Fill in the blanks with the help ' ’
of alternatives given. Select the most appropriate option
for each numbegr pprop P 15. Direction: In the following question, the given sentence
A close look ;t the facts (1) to political has four parts marked P, Q, R and S. Choose the part of
. . - R o the sentence with the error and mark as your answer. If
interference in administration shows that it is not a one- there is no error, mark 'No error (S)' as your answer
. i ) you wer.
way (2 . There is often a nexus between power-
hu:g(ry) and corrupt (3) and civil servantz with If you describe someone as a maverick, (P)/ you mean
. . — . that he is unconventional and independent (Q)/ and do
convenient principles. Many civil servants are only too not think or behave in the same way as other people. (R)/
anxious to (4) the politicians, and then cash the N S y people.
obligation when they need some special needs. So, the o error (S)/
attitude of self-righteousness (5) by the civil (@ P (b) Q
service is sometimes only a way of covering their flaws by () R (d s
blaming others.
Find out the appropriate word for blank no. (1). 16. Direction: Out of the following options, select the word
(@) about (b)  scrutinizing that best substitutes the given sentence:
() relating (d) indicative "Official prohibition or order to stop something"
(& Ban (b) Bane
7. Find out the appropriate word for blank no. (2). (c) Curse (d)  Ruin
(@) resolution (b) process
() unidirectional (d) approach 17. Direction: Given here are four sentences. The first
sentence is in the correct order, while the rest of the
8. Find out the appropriate word for blank no. (4).
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SCHOLARS ACADEMY

sentences are jumbled. Pick the option that gives their (@ Concept of national (b)  Concepts of national
correct order. sovereignty sovereignty
A. The excessive population is the cause of the demise of ()  Concept of national (d) No correction required
the environment of any country. sovereignities
B. A country with a large population needs a massive
food suppIY to feed its people. 25. Direction: Each of the following items in this section
C. Production of a large number of food and products . . .
leads to deforestation. consists of a sentence, parts of which have been jumbled.
D. A large number of people need not only food but other These parts have been labelled as P, Q, R and S. You are
) . required to re-arrange the jumbled parts of the sentence
products to survive. and mark your responses.
(@) ABCD (b) AcDB that can keep a (P)/ and technology running smoothly
(c) ADBC (d) ABDC (Q)/ management is a set of processes (R)/ complicated
system of people (S)
18. Direction: Select the option that is nearest in meaning to (@ RPsQ (b) RPQS
the given word. (c) SQPR d) RaPS
Frugal
(@) Meager (b) Huge
(c) Sufficient (d)  Enormous [ REASONING ]
19. Direction: Select the option that is nearest in meaning to 26. a@m%@mgﬁmmaﬁm|
the given word. Select the correct mirror image of the given figure.
Scintillating
(@) Appealing (b) Mundane l ]
(c) Exhilarating (d) Imploring l /_: E
20. Direction: Select the option that is opposite in meaning to
the given word. IT § l Nél
Generou‘s (@) (b)
(@) Energetic (b) Dwarf
(€) Mean (d) Serious [ § l l § l
21. Direction: Select the option that is opposite in meaning to (c) l (d) I
the given word.
Gullible 27. WA A 3O P T, I TG T "I§ A Tl Dt
(@ Honest (b)  Suspicious AT S A TG | S P82
(c) Trustful (d) Confident Aman saw Ajay, he recalled, "He is the son of the father
of my daughter's mother". Who is Ajay?
22. Find that mis-spelt word. €) ﬂ-ﬂg Brother (b) W—E—?ﬁ Brother-in-
(a) Impatuous (b) Ignoble . law .
(c) Ignominious (d) Idiosyncrasy (c) WIax-g-cfl Father-in- (d) WIax-g-dl Father
law
23. Direction: In the following question, a sentence has been
given in Active/Passive Voice. Out of the four alternatives 28. qﬁ' ‘a' BT I 'Gﬁ@_", b T 3 "elq, 'T Pl KK RILIE
suggested, select the one which best expresses the same 3R o &1 3 HRT @t
sentence in Passive/Active Voice. If 'a' means 'addition’, 'b' means 'subtraction’, 't' means
Your mother called you many times. 'multiplication' and 'd’' means 'division’, then
(@) You was called many (b)  You were being called 18c14a6b16d4 = ?
times by your mother. many times by your (@ 63 (b) 254
mother. () 1255 (d)y 1208
() Youcalled many timesby (d) You were called many
your mother times by your mother. 29. ﬁi’fﬂ: WWWWW@TWW@W
YT Wi ¥ O YT ¥TeE Usd ¥eg § Wafia g |
24. Direction: In the following question, some part of the W;w; /Y ?
sentence is underlined. Which of the options given below Direction: Select the option that is related to the third
the sentence should replace the part underlined to make word in the same way as the second word is related to
the sentence grammatically correct? If the sentence is the first word.
correct as it is given then choose option (D) ‘No Dog : Rabies : : Mosquito : ?
Correction required’ as the answer. @) vl Plague (b) TG Death
The concepts of national sovereiginties was never .
absolute. (c) HRAI Malaria (d) TP sting
Mob. - 01141676717,9312712114 Page 3
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30.

fadar: 39 faweu &1 9= Fifere o HR wreg | St

g TEfId § S g XUeg U Xeg | Wala B 35. x Pl Y 4 B AR Bt B TAT | 4 A I1G, x, y BT 4
: BT = &AM : ? T ST 8 ATT § | y B aeHT 34Tg 1 32
Direction: Select the option that is related to the third The age of x is six times the age of 5. After 4 years, x
word in the same way as the second word is related to becomes 4 times as much as y. What is the present age of
the first word. y?
MASK : FACE :: GLOVES : ? (@) 49Y 4vyears (b) 5TY5year
(a) I Thigh (b) YT Shoulder (c) 6dY6years (d) 7997 vears
(c) 7RG Neck (d) I Palm '
36. A Fmfaf@a & @ @19 a1 a9 s ot & &9
31. & Uy TPl § fAETT AR ST & AigH TEY B TS ST ST 8?2
¥ YT Waw F 91¢ 98 fPd W NMPpfa Sm g, ueh, ugy
ﬁ@]ﬁa'lﬂ? Direction: Which one of the following Venn diagrams
A piece of paper is folded and punched as shown below in correctly represents the relationship between classes?
the question figures. From the given answer figures, Humans, Birds, Animals
indicate how it will appear when opened?
©o0 QD
e o (C) (d)
@ (b) 37. fdw: Fafaf@a S e § usares fag o) &
RITH TR T AT AT
o0 Direction: What should come in place of the question
o0 2008 mark '?' in the following number series?
(c) (d) 163,150,134,112,81, ?
) (& 58 (b) 42
32. I IPHA H A B 1HfA Haw uy srpla & © 38 @ 30
P! gRT 1] SR Y 82
Which of the answer fig.ure i.s not? made up only by the 38. ﬁ%ﬂT: m =T m e YYD ﬁlﬁ' ) P
components of the question figure? R R A GI'FITﬂT%E?
uH Mgha S . .
Direction: What should come in place of the question
mark '?' in the following number series?
20, 21,42,14,18,?,15
R (& 56 (b) 90
(c) 72 (d) 76
% @ a:% 39. fAdw: fFufafaa afien & @ R & "R
w ® © O TGAD Aal Pl
@ (A () (B) Direction: Correct the following equation by
© (© d (D) interchanging the two signs.
100x 72 +9 +25-12 =392
33. U® Pe YT H, TEACHER I UIEDIS & &T ¥ forar (@) -3R+-and+ (b) +3MR x+andx
SITdT @1 IH UIOT & PLUMBER &) f5d TSR forar (€ x9MR-xand- (d) +3R-+and-
SITEIT? < .
In a code language, TEACHER is written as UIEDIIS. How 40. wé’ruﬁaﬂ%ﬂﬂ W—Wmﬂlﬁﬁ%l dg
will PLUMBER be written in that language? ﬁmﬂﬁﬁﬁ '@ 918 Bad & faudia ghm|
(@) QMVNCFS (b) QMANCIS Three different positions of the same dice are shown.
(c) QMVNCIS (d) QMANCFS ‘S;I'ect the option that will be opposite to the face having
34. QT anpfar A foraa SmaATOR B2 <o > ’
How many rectangles are there in the given figure? Q’ h’ a’
1 2 3
(@ # b o
() % d) &
(@ 6 (b)y 7
© 9 d) 10 41. fRA U faweu & | faww = gl
Mob. - 01141676717,9312712114 Page 4
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@
(©

42.

@
(©

43.

@
©

44,

@
(©

45.

@
©

46.

@
(©

47.

@
(©

48.

Select the odd number from the given alternatives.
256 (b) 289
343 (d) 144

TP P UTT T, STAPLE DI TSBOMD & =0 | forar
SITAT 8 | 39 HTT H ERASER B! fp T U R forar wimaame?
In a code language, STAPLE is written as TSBOMD. How
will ERASER be written in that language?

FQBRFQ (b) FQBPFQ

FQBRDQ (d) FOBRFO

fAdwr. R U vl ® 39 PH § afyd FIfoe
for 4 TP A A B

Direction: Arrange the given words in the sequence in
which they occur in the dictionary.

1) legitimacy

2) leniency

3) legislate

4) leisure

5) legacy

53421 (b) 53142

53412 (d) 52314

g xBTAF -8, + PTAS : B, - BT AF B x B 3R = &1

3f+ B qT15-2+900+90x100=2?

If x means —, + means +, — means x and + means + then 15
—-2+900+90x100-="?

190 (b) 180

90 (d) -60

1 Ue s &t 78 @ v te v gw 81 ke
fawen # O a8 gl fawea gfe o gaan St R HR|
Direction: A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

G25R, K35X, 019D, S29J, ?

W29R (b) v38P

v39Q (d) w3op

i vo s § @ P v we g 81 R e
fawedi ¥ 9 a5 O fdwer gihe ot faar st Rl
Direction: A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

A171, X3C3, E3V4, T9G7, ?

H20R11 (b) 127R11

127B12 (d) H20s12

1.12.91 g YAaR g1 TSR 01 &1 TUT WieER
PATE?

1,12,91 is the first Sunday. Which is the fourth Tuesday of
December 91?

17,12,91 (b) 24,12,91

26,12,91 (d) 31,12,91

frdar. nfordi Tl & €t WEeE &1 9gT B
N e wu A Fafafaa afteon o dgia s
¥ fore a1¢ | ST * Tobdl B Ui Y AP a B

@)
(©)

49.

@)

(©

50.

@)
(©

51.

@)
(©)

52.

@)
(©)

Direction: Select the correct combination of
mathematical signs that can sequentially replace the *
signs from left to right to balance the following equation.
32*%2%60*30*15 *51

X, -, +, 5= (b) x,++,-,=

X, +,+,-= (d)

. faw T YAl B I AT iR au Fifore
feu e frsput & @ 19 a1 fAfda Fu A Re e sy=
I T sTaPar gl

DY:

(A) Tt I T T

(8) T I U

forea:

() Tt s T IFaR g1

() it IR g fai 7

Direction: Consider the given statements to be true and
decide which of the given conclusion can definitely be
drawn from the given statement.

Statements:

(A) All goats are cows.

(B) All cows are animals.

Conclusion:

(1) All goats are animals.

(1) All animals are goats.

s X =

Had Y (1) SIROT (b)  HId (5HY (11) ST
W% Only conclusion W% Only conclusion
(1) follows (I1) follows

)ik yadt (@) TR () ARAG
3IERUI R § Both (1) TR FRAT §
conclusion (1) and (I1) Neither conclusion (1) nor
follow (I1) follows

U ¢ HIUTH, 'PERTURB' I 'UTRRPEB' & =0 ¥ forar
SITT 8 | ‘FREEZER’ Y 3 HTHT & H ferar e

In a code language, ‘PERTURB’ is written as ‘UTRRPEB’.
How will ‘FREEZER’ be written as in that language?
ZRRFEER (b)  ZRFEEEE

ZRRRFEE (d) ZEEEFRR

[ Quantitative Aptitude ]

TET 38808 & UTAD! Pt T, fAUTSTHY 1 3R G
TY W 1 Blgdhy, fha-1 g2

The number of divisors of the number 38808, exclusive of
the divisors 1 and itself, is:

74 (b)y 72
70 (d) 68

STSS BI TP I 265.50 $UY H 99 U 18% HT ATY

gla1 31 91 98 39 231.30 UL H ITaT 8, A STDTATH
a1 g1 wfarra 8:

Anirudh gains 18% on selling an article of Rs. 265.50. If he
sells it for Rs. 231.30, then his gain or loss percentage is:

TY: 2.4% Profit: 2.4% (b)) @ T 2.4% Loss: 2.4%
g +T: 2.8% Loss: 2.8% (d) dMY: 2.8% Profit: 2.8%
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53.

@
(©

54.

@
©

55.

@
(©

56.

@
(©

57.

Ay Fufaf@d R 7% & a9 3 1@ SR
Frafafad wsi & Wl

19 R ITw Ui TiTal Bt AER SR FRER SEen
HgRarg|

PA TTHET = HIEGR STH@ + FRER s=ra@n
Direction: Read the following bar graph carefully and
answer the following questions.

Following Bar graph shows the literate and illiterate
population of five villages.

Total population = literate population + illiterate
population

b=

=
i
i
i

M .Nmm :.; h—{m o "
i TTal Bt SR ATER SRS [T P
Find the average Literate population of five villages.
1100 (b) 1250
1360 (d) 1040

?T%sine cosO = K%,ﬁ??Ogng/Zﬁ,?ﬁ'mﬁ
A BT TE 72

If sin@ cos® = K, where 0 < 0 < rt/2, then which of the
following is correct?

O0<k<1 (b) 0<k<0.5

05<k<1 (d o0<k<1

3 5in’0 + 4cos’0 T <LATH U T 3?
What is the minimum value of 3sin’0 + 4cos’0?

5 (b) 4

3 (dy 2

fafts &=t & el 3o & P9 SRS
co,3ae (faferam et e) Fafafea oifter &
g

For a country, CO,emission (million metric tons) from
various sectors are given in the following table.

€O, T (g1 Hiesl o)

qu/ &7 |f9gdd |Sam |anieds |&g |9,

2005 | 500 |200 | 150 80 [100

2006 | 600 |300 | 200 90 10

2007 | 650 |320 | 250 100 120

2008 | 700 400 | 300 150 [150

2009 | 800 450 | 320 200 [180
¥ 2005 ¥ 2009 & IR fIgga &7 A co, I B
wfrraan gfe (wfsra) w32

What is the percentage (%) growth of CO, emissions from
the power sector from 2005 to 2009 ?

60 (b) 50
40 (d) 80

9 Miex S ASTHR T & YR Pt ufefdr a4 Me B
39U fAifgd arg &1 smaa+T gd S|

The circumference of the base of a 9 meter high conical
tent is 44 metres. Find the volume of air contained in it.

@)
(©)

58.

@)
(©)

59.

@)

(©)

60.

@)
©

61.

@)

(©

62.

@)
(©)

63.

@)
(©)

430 P (b) 4627

472 0P (d) 4924
fcw: g vy & yyae fE » $ WA W) |
3ITTT?

Direction: What will come in the place of the question
mark '?' in the following question?

V32 + 92— 72 =2 x (7)?
25 (©) s
10 (d) 125

afgx=3+2v2,al (ﬁi %) PIAME:

o L

If x =3 + 2 V2, then the value of (v=-3%) is:
1 (©) 2
2V2 (d) 3v3

TP AW o1 Sifrd Ged 3500 4T 7 3R 39T faspg
TR 2275 TUY g | UiI=Td ge R 82

The marked price of a table is Rs. 3500 and its selling
price is Rs. 2275. What is the percentage discount?

45% (b) 55%

35% (d) 65%

19 B URT & ufada A 3R A1 B URT F gHA
nfa swusT: 7 fpeii/aer ok 13 fmft/der 81 sia wa o
19 Y 7fa 3R U1 Y f T 2

The upstream speed of the boat and the downstream
speed of the boat are 7 km/hr and 13 km/hr respectively.
What is the speed of the boat in still water and the speed
of the current?

10 fopet/ger 3R 3 () 15 fpHi/EersiRg
foi/eieT 10 km/h and 3 foi/eieT 15 km/h and 9
km/h km/h

20 fpei/eer 3R 6 (d) 4o fpfi/eer 3R 12
%ﬁﬁ/ﬂazo km/hr and 6 M/‘a'am km/h and 12
km/hr km/h

3 HEd IR e ¥ B 30% 3R 37% B T
T T, ugdt @ fan ufama A s 32
Two numbers are respectively 30% and 37% less than the
third number. By what percent is the second number less
than the first?

10% (b) 70%

4% (d) 3%

14 I 9 TP ITATPR UISY & ITE MR AP
¥ & BT Siav 44 AW 81 UTSY 90 FUP T ey
T g1 81 afe urgy Ft arer B R iR srafve fBear
r 8, @ (R + r) fPTP RTR 2 (n = 22/7 SHifvmg)
The difference between the external and internal surface
areas of a cylindrical pipe 14 cm long is 44 cm The pipe
is made of 99 cm® of metal. If the outer radius of the pipe
is R and inner radius is r, then (R +r) is equal to? (Take m =
22/7)
9T H 9 cm (b)
6 91 6 cm (d)

7.5 7.5 cm
453 4.5 cm

Mob.
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64.

@
(©

65.

@
(©

66.

@
(©

67.

@
(©

68.

e Afed g s A 7 a% S1aT 8 SR aray e 31 g
T § U@t ofrd ard 7o frdft/der g1 afd T s aw
I A H IFP! A so fpfi/aer 8, A s A1
T ¥ aafed ot ard (feei/eer d) | gnie

A person goes from point S to T and back. His average
speed for the entire journey is 70 km/hr. If his speed in
coming back from T to S is 80 km/hr, then what will be
the speed (in km/hr) of the person in going from S to T?
58.13 (b) 62.22

60 (d) 65

e fufafea aga e o1 sraga v ok
faw T vyl & SR i
4 GBI A, B, € 3R D A 2 UPR F FUST I & 3fiwvs
fFafafEa g
Direction: Study the following line graphs and answer the
given questions.
Following is the data given of selling 2 types of pizza from
4 shops A, B, Cand D.

5 g o fad e @t amEr

——BII AR =TT HEN

=
— O
—

=

¥ 8 &8 8 8

=]

FEMA P gFrHcC gFHD
P ¢ 3R P B I I MY U= &) o G &
o BT 3UTd JTd BIfog |
Find the ratio between total number of pizzas sold from
shop C to that of shop B.
13:12 (b)
12:13 (d)

Y. R A THE A 14000 F. B1 A fBam) uRusar
W IR frat e=RifRr frah, afe 317 3/ 20% wfy
¥ Tergfes saTe (ST IARIe © U ¥ guTaE gt
?) PR | 6 7 & fore fawr fam

Mister. Shriram has Rs 14000 in FD. Invested. How much
money will he get on maturity, if he invests it for 6
months at 20% compound interest (interest adjusted
quarterly)?

15437 %.15437 Rs. (b)

15436 %. Rs 15436 (d)

11:12
22:23

15434 °%. 15434 Rs.
15435 %. 15435 Rs.

afg ¥ -ax+1=0%, @A (x)° + 1/(X)° BTHF FA B
If x* - 4x + 1 = 0, then find the value of (x)° + 1/(X)°.
2702 (b) 5774
2706 (d) 2500

R SR Uit BT 120 Tiex fargor 81 RRepT 3R Uit
HT U 7:5 81 Th gPHGR RR& &1 Uit I
ST 5 : 6 T & forg T i3 v & urit Ryeman
21 Ut # A8 AEn o & ol Y ga wen e
feamufoxa s

There is a 120 liter mixture of vinegar and water. The
ratio of vinegar and water is 7:5. A shopkeeper added a

@)
(©)

69.

@)
©

70.

@)
(©

71.

@)
(©

72.

@)
(©)

73.

@)
(©)

74.

certain amount of water to make the ratio of vinegar to
water 5 : 6. The new amount of water is what percent of
the original amount of water in the mixture

156% (b) 145%

165% (d) 168%

I fafra fawat & fafir e T oar 31 S9F i
70,50,60,65 31X 75 § | A TP 3T 3 320 BT fha
wfa=ra 82

Ram scores different marks in different subjects. His
marks are 70,50,60,65 and 75. Then what percent of his
average marks is 320?

20% (b) 25%

12.5% (d) 37.5%

e qufgarg Ay #, asc te was o Hiyw 3 R
AC = 30 91, AM = MN = NC 81 BM? + BN>@T UTH 91

FifoQ|

In an isosceles triangle, ABC is a right triangle in which AC
=30 cm, AM = MN = NC. Find the value of BM* + BN’

A

M
]
8 c
600 T 600 cm? (b) 500 T 500 cm?
800 THI2 800 cm? (d) 400 IH 400 cm?

'Clﬁ'(a+b):(b+c):(c+a)=7:6:53ﬁ?a+b+c=27,%,
A 1/a: 1/b : 1/c BT A FITER?
If(a+b):(b+c):(c+a)=7:6:5anda+b+c=27, then
what is the value of 1/a : 1/b : 1/c? will be?

4:3:6 (b) 3:4:2

3:6:4 (d) 3:2:4

V8 +Vos+ Via s vim BT A 19 B

Find the value of \-‘"‘I{ 8) + \-‘""284 P13+ 144
5 by 1
2 (d 3

A,70 f&=i & U B0 B THa1 § 3R B, A Bt ga- A
40% 3T &1 21 W HTH &) B & g B gR1 g
Y f 3t e fat gt
A can do a work in 70 days and B is 40% more efficient
than A. What will be the number of days taken by B to do
the same work?

403 40 days (b)

50 f& 50 days (d)

TP 30 & ATYR B 5571 31, I8 FY Hars & qiy
U 2 : 3 81 Tl a9 BT M 1617 AHE B, @
Yo BT IP-YEIT &P d T 82 (n = 22/7 AT

60 T 60 days
45 T 45 days
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77.
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©

78.

@
(©

79.

@
(©

80.

The ratio of the radius of the base of a cylinder to the
height of the cylinder is 2 : 3. If the volume of the cylinder
is 1617 cm3, what is the curved surface area of the
cylinder? (Take nt = 22/7)
242 YA 242 cm? (b)
462 TH 462 cm? (d)

T qafgarg AYS #, zq 3R zr & FARGUTS® Par
fog e R frerd €1 afd zp = 50° B, A zQer AT 2
In an isosceles triangle, the bisectors PQR of ZQ and ZR
meet at the point E. If ZP = 50°, then what is ZQER?

385 THI2 385 cm>
770 9H2 770 cm?

|'_‘r
8] R
115° (b) 55°
65° (d) 105°

[ General Awareness ]

%maasngmmrcﬂa?mﬁqmaa%zm

Which article comes under the Attorney General of India?

3G 76 Article 76 (b) TG 148 Article 148
&Iﬂ@?{ 165 Article 165  (d) &Iﬂ%_cf 280 Article 280

WP JUT 3R ITT GHT BT Yo J6F SIS gRT
TS STl 82

The joint sitting of Lok Sabha and Rajya Sabha is called by
the:

ATYId President (b) TNHIHT 3{eTE Speaker
of Lok Sabha

ISTIHT P FHTIf d) FAH I P T8l None of

Chairman of Rajya Sabha these

fay &1 9aH Sa1 STAYUTd B AT 72

Which one is the highest waterfall in the world?

fARRTRT Niagara (b) fageifa victoria

TSd Angel (d) ﬁﬁﬁﬁ'ﬁc:ﬁmone of
these

fFrafafee 7 § 4 o9 A9 e 9g qoEE

Taaie o1 fexar g 82

Which among the following gases is not a part of National
Air Quality Index?

3ISTH Ozone (b) TR SEHFZS
Sulphur dioxide
AEgioF SRS (d) I Methane

Nitrogen dioxide

gmﬁ#w%aﬁwaﬁaﬁﬁwmﬁﬁa

@)

(©)

81.

@)

(©)

82.

@)
(©)

83.

@)
(©)

84.

@)
(©)

85.

@)
(©)

86.

@)
(©)

87.

@)
(©)

88.

Muhammad Bin Tughlaq transferred the capital from:

et ¥ 3 pelhito (b)) foceh J SIdmETE Delhi
Ujjain to Daulatabad

et AR TDelhito  (d) faceh A SAEIEIE Delhi
Mathura to Allahabad
fafafed 4 9 fFa 9o wgd @waar &m@
(Fafefsd ¢u) o1 e w@m ure

Who among the following, first mooted the idea of the
Liquidity Trap?

HEHS AR Alfred (b) S HATS BT John
Marshall Maynard Keynes
freca mIESAT Milton  (d)  TSH &Y Adam Smith
Friedman

SOt Hf gedRre T § QiR e & divarget
P BT Iead fred fpar g2

Who has mentioned the heroic deeds of Prithviraj
Chauhan in his work 'Prithviraj Raso'?

G‘TﬁEJagnik (b) TGERg '5‘ Chand Bardai
TfeRTH Matiram (d) YAM<E Ghanananda
fFrafifea # § $19-91 YR o1 TP davar g g
IAFE?

Which of the following is a Floating National Park of
India?

WIfAHaH Eravikulam  (b)  FI@fIUTE Similipal
THGIHT Namdapha (d) g ToH Keibul Lamjao
gaduTer wfeR R 8:

Sabarimala Temple is located:

P Kerala (b) Pl Karnataka
AT Tamil Nadu (d) IS Odisha
5 A= &) Afgan frde & 3 Tlrng @ 2023 o
ol yge <far

Which country's women's cricket team won the gold
medal in the Asian Games 2023?

STEPT Sri Lanka (b) UTHIM Pakistan

I china (d) YRdIndia
ST SreryaTd ¥ g ufdpdt gx d wed
ATFPTY eI B

Jog Falls is the most thrilling spectacle in the entire
western region of .

S[PUMIA UG Arunachal  (b)  3(USH 3R FdlaR
Pradesh Andaman and Nicobar
EIINES Nagaland (d) PIc Karnataka
5 3 oY URA A IR TRE WU F Jga
TN B 2027 TP T UR HgHId o P &2

Which nation and India have agreed to extend the
Vaccine Action Programme joint declaration till 2027?
Y Russia (b) P France

SH Germany d) g IS AR

United States

Fafafee ¥ s @t aig @~ e Td @2
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94.

@

(©

95.

@
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96.

Which of the following metals is not a mineral?
FIGTTSC Bauxite (b) TTSH Gypsum
AT Hematite (d) AT Limonite

a4 @ 59 wifter ARl & 99" & wu A
ST ST 82

Who among the following is known as the "Father of
Revolutionary Ideas"?

1T RIE Bhagat Singh (b) AGRIER TS
Chandrashekhar Azad

f9foe 9 91 Bipin (d) ST TMER fode Bal

Chandra Pal Gangadhar Tilak

_ U Aieam WUM g oY g s o

IUUNT H 3R TR HWeX W A9 U 3@ @

gafa ATl
A is a software program which allows us to
access the Internet and view web pages on our computer.

Wﬁfﬂm Computer  (b) gaC UICIdId Internet
program protocol
99 T3S Web browser (d) JTHISC Website

620 AR Fee fFma &1 SmaieA 5w e #
o s

In which city will the G20 University Connect Finale be

organised?

3eHqldIg Ahmedabad  (b) T3 el New Delhi
STAYR Jaipur (d) JRIUR Varanasi
fFafafaa 7 Q o1 wfss & Rifvcs 22
Who among the following was the court physician of
Kanishka?

W&H Vasumitra (b) W Nagarjuna

TP Charaka (d) TSI Patanjali
fay s fgaw w9 w=maT sTar 82
When is World Pharmacist Day celebrated?

24 TSR 24 September  (b) 26 RIGER 26 September
27 T4d®R 27 September  (d) 25 RIGER 25 September

3 JATS 1947 B YRA & fauTeH & faeme fra ardf
s 3 TR

Which party observed the “Black Day” on July 3, 1947,
against the Partition of India?

'l-ﬂ?_cﬁ'qﬂ'@'qm (b) PHRAS 1P Forward
Indian National Congress Bloc

&g HEIUT Hindu (d) HRdT HRAE ardt
Mahasabha Communist Party of India
Riy e faare W wRa ok wifew™ & v Jo
PEIES &7

Where was the meeting held between India and Pakistan
on Indus water dispute?

:lﬁfac'_vﬁ New Delhi (b) fdT T vienna
PRI karachi (d) ﬁs‘Tﬁ nobody
FrafafEa % @ o9 91 3 ve a3 g g?

Which of the following diseases is caused by a bacterium?

@)
(©)

97.

@)
(©)

98.

@)
(©

99.

@)

(©

100.

@)
(©)

Tt Polio (b)
CITWISS Typhoid (d)

Rder ® 3= ot 18 diey it gien Fafafea d 9
5 &= A wafta 32
PM Shree Yojana launched in September is related to
which of the following sector?
Eﬁﬂijﬁﬂ'\q Electronics (b) fyafa Export

TR R fawry

fR1&fT Education (d)
Research and

Development

TR ol &t fagga SHut & frad gr1 ufvafda e
STar 2
Solar energy is converted into electric energy through:

mm Haemophilia

AR=-SAX Filariasis

LHAA P GRIDrycells  (b) AR A &b GRT
Leclanche cells
Jfecds Jd & gRI (d) Il difecd 9d D gRI

Voltaic cells Photo voltaic cells

BT g1 #, YRd § adia s feaw siftram 3= faran
T, 399 f& BT Aged DI AT HRIT Bl 82
Recently, coastal clean up day campaign launched in
India, which institute lead this day?

YRAG AT &P Indian (b)) TIINIT NCC

Coast Guard

R T Indian (d) TITILHNSS

Navy

A9YE TR AU 3 10 SUARTHArS $t Uga e

¥ fore = Iuah fbar wimar 2

What is used to identify users who come back to a

webpage?

PDIN Cookies (b) SUERTEHA! ATH
Username

& cache (d) UGS Password
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